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 ���� ���د���� �� ا��ر�� ا�و�

�2: ����� ا����د�� ا������ �� ا��ر�� ا�و�
 	������� :1ا������ � 3� � 1 � 0      )1(  

)و  (5-;0)و  (0;0)و  (3;4-)و  (1;2)):  1(!�د �� 	�� ا�زواج ا������ ا�زواج ا��" ه" !��ل �����د��  .1


� ;0). 

 ).1(!/ �����د��  (a;5)	)�. -,�ن ا�*وج  aأو�� ا���د ا�)'�'"  .2

 ).1(!/ �����د��  (b;6-)	)�. -,�ن ا�*وج  bأو�� ا���د ا�)'�'"  .3

;��	)�. -,�ن ا�*وج  �	���4  �أ!23  .4  ).1(!/ �����د��  ��

:�D������ ا���3'����  :2ا������ � � 2� � :�∆�و  3 � � � � �9  

 ���از-�ن؟ (∆)و  (D)ه5 ا���3'����  .1

 .(∆)و  (D)ا���3'����  (O;I;J)���; ������ و ��=>;  أ�:9 8" .2

��2   :=>�����������  !/ا?�=�<  .3 � � � 3x � � � �9�. 

  :!5 	�?����ل �B-'� ا����-A ا�=>��ت ا������ :3ا������

�3� � 5� � 1� � �2� � 4� )s1( �3و� � 2� � �3� � 4� � �3 � )s2( و�– � � 2� � 8 � 0�3� � � � 1 � 0�  )s3(و� 2� � � � 3 � 04� � 2� � 1 � 0� )s4( و
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  :!5 	�?����ل �B-'� ا���E��F ا���CD ا�=>��ت ا������ :4ا������

��5� � 2� � �33� � 4y � 1 � )s1 (و� 2� � � � 45� � 2� � 1� )s2 (و� � � 2� � 1 � 03� � 6� � 3 � 0�  )s3 (و
x 2y

x 2 0
3

x y 3

− +
+ + =


 + =

 )s4 (  

  :!5 ���-� ا�=>��ت ا������ :5ا������
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  :6ا������

:����� ا�=>�� ا������ .1
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 .x�y = 7: و أن x + y = 17: 	�� أن .1.1

 .yو  xا?�=�< ���G" ا���د-�  .1.2

2.  H�CG ل�B 5�C�3� 5,I 
�J �'-�(أن ا� ���J ،��3ج !�-�ي	أزه�ر  �'-�! �B�!إ NDI �-�-13m  O�!�3� 60و m². 

  .!�د �Bل ا���3ج ا�)�-�ي
  

  :7ا������
 P��� دىR-4560 DH  ـ	88   �T8 �� �-�'� �G20ور DH  100و DH؟�T8 5د ا�وراق ا�='�-� �� آ�J ه� �� ،  

  
  .����� ا��ا!�ةDH �50����� ا��ا!�ة و ��Y ا�W=X ا�^��"  ��C� �� ��E=[ ���\ ]��-30 DHات ا��/	��Y ،Z ا�W=X ا�ول  :8ا������

  ، ��8 ه� �Jد ا���2 ا��" 	��a �� آW=[ 5؟J1000 DH��� �� ا� ��� ��E=X	����G PرH  28إذا J��a أن ا����� 	�ع 
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